Chapter 5 Summary Notes
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General Equation of a Straight Line...

y=c+mx

Yy =c+mx

Sope The 'm' represents
(e gradient/slope
Vzeom of the line:

The 'c’ represents the
y-intercept of the
line: 0.0
(where the line

intercept
crosses the y-axis). "
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How do you find "m" and '¢"?

«C is easy: just see where the line crosses the Y axis.

* M (the Slope) needs some calculation:

Bxyy)
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Modelling Real - life

Water is pumped into a partially fulltank. The graph gives the volume of
water V (in litres) after ¢ minues.

1.How much water s in the tank at the start

Read from the graph (when =0, =200
200 L

2. How much water is In the tank
after 10 minutes =107 1600
Read from the graph (when =10, ¥=1200)

1200 L 1200
3. The tank holds 2000 L. How long does it

take to fll? €m
Read from the graph (when V<2000, t=18) @

18 minutes

CERREETIATS
Time (inutes)
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Modelling Real - life

Water is pumped into a partially fulltank. The graph gives the volume of
water V (in litres) after ¢ minues.

4. Find the equation of the lin in terms of ¥ and ©
Two points (0, 200) and (18, 2000)

P £

100t + 200 (620)
5. Use the equation to calculate the volume of water
in the tank after 15 minutes?

V=100(15) +200=1700 L

6. Atwhat rate s the water pumped into the tank;
that is, how many lires are pumped into the tank "
each minute?

160

0 TicEnniien
Time (inates)

The rate = the slope of the graph, 100 Limin
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Solve simultaneous Equations
|

Example 1

Solve the equations

y=x+1
x+yz 4

by substitution
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Constructing a piecewise linear graph model

“The amount, C dollars,charged  supply and delver  m of crushed rok s given by

0sx<3) @
C=80+30x  Bsx<y @
& Use the approprist equation o determine th cost o supply and delver the following.

Wi 3m® Wi 6m®
04025150 60305170 80+306-5260
b Use the equations to const = piecewise linear graph for 0 < x <8
50+40x0=550 (050) - o
50+40%2.5=5150 (25,150) = T
803035170 370, i

80-30x8=5320 (8,320)
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Step graphs

A step graph is a type of piecewise graph that uses line
segments where each line segment is horizontal.
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Solving a 2 Step Equation Using Onion Skins

* Solve the Equation :2n+3 =11

Draw the first skin around
“h, and then draw more.

kifs raiating outwards,
‘ 5 untilthe whle slgebra
I equation i cirded by the

final outer skin.

To solve the Equation work from the biggest outer skin,inwards through the smaller
skins, applying opposites, until we reach the leter variable.

(R =Y
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Plotting Linear Graph:

Table of Values

® A number plane or Cartesian plane includes 3 vertcaly-axis
and a horizontal -axis ntersecting at ight angles.

® A pointon a number plane has coordinates (z,)
* The z-coordinate|s Isted first. followed by the y-
coordinate.
8 The point (0,0) i called the origin (0)

ETE

origin origin
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There are four types of “Gradient” or “Slope”
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Gradient Siope - Example One

y Find the Gradient between
points “A” and “B”.
T T
Up=3
Lo e
RUN
« Across =7 - m=_3
S 7
A m=3/7V
B ﬁ(uwu Positive Gradient)
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Gradient Slope = Example Two

-+

Up

RISE =

Find the Gradient between
points “C” and “D”.

m=4

.‘i_' X

6

o
2 % m=4/6=2/3 /'

(Downhill Negative Gradient)




